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QUESTION 1

Which five combinations of lot and expiry date are valid scenarios in WMS Cloud? (Choose five.)
A. Two IB LPNs of the same item have different lots and the same expiry dates.

B. Two IB LPNs of the same item have the same lot and the same expiry date.

C. The IB LPNs have an item with the same lot and different expiry dates.

D. An item is lot-tracked but not expiry-date-tracked.

E. An item is expiry-date-tracked but not lot-tracked.

F. Two IB LPNs of the same item have different lots and different expiry dates.

Correct Answer: BCDEF

QUESTION 2

When the Ship Load interface is generated, which statement is false?

A. The Load is updated to "Shipped" status

B. The Wave is set to "Completed" status

C. The Orders on the load are updated to "Shipped" status

D. The shipping cartons (OBLPNSs) assigned to the load are updated to "Shipped" status

Correct Answer: C

QUESTION 3

During which of the following three scenarios does the WMS validate or throw an error message during picking with a
serial number tracking execution? (Choose three.)

A. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is present for a
different facility.

B. When the scanned serial number is present in the scanned IB LPN or active location and also exists for another item
in stock in the current facility.

C. When the scanned serial number is not present in the scanned IB LPN or Outbound LPN or item and is currently
linked to another Inventory Record for the facility.

D. When the scanned serial number, which is associated with an OBLPN in shipped status for a different facility, is not
found for the current facility.
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E. When the same serial number, which is already present on the same Sku in a different facility, is scanned.

Correct Answer: ABE

QUESTION 4

A client can integrate with WMS Cloud by using the input interface. Which three options can be integrated? (Choose
three.)

A. Appointments
B. Loads

C. Orders

D. Item

Correct Answer: BCD

QUESTION 5

Identify the type of functions you need to use to handle conditional information in a report.
A. Arithmetic and Geometric Functions

B. WMS BI Cloud does not support that type of functionality

C. String Functions

D. Dynamic Functions

E. Logical Functions

Correct Answer: E
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